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GENERAL INSTRUCTIONS: -
*Question no. 1 to 15 are objective type questions carrying 1 mark each.

*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.

*Question no. 22 to 27 are Short answer type questions (with internal
choice in question no. 22 and 23) carrying 3 marks each.

*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.

SECTION - A

FGE PR & T4 HHiF1 & 15 | Objective Type Questions- 1 to
15

agﬁa»—«tﬁwqaa FHIF1 T 6/ Multiple choice questions- 1 to 6



9.1 “HoAgd AR A1a o [T his TS FHGTT AT SoT Hebel ©
IJg FUA [T § § ThgaT 87

a) ST {TEMeHSuTeT b) FGTCHT e

c) st U faferaea d) o & arer

Q1. “No nation can become great without a strong physical foundation.”
Who among the following has this statement?

a) Dr. Radhakrishnan b) Mahatma Gandhi
c) J F Williams d) J B Nash

9.2, s FATST HI TR I YBIHTT e 37

a) 1928 b) 1929

c) 1930 d) 1931

Q2. When did the tradition of the Olympic torch begin?

a) 1928 b) 1929

c) 1930 d) 1931

9.3, ATeAd ARH gfee (Thead) & T To8 AgeaqoT 397 i AT 82
a) 9 b) ¥

c) gad d) ATETSH

Q3. Which is the most important organ for human physical fithess?
a) stomach b) feet

c) heart d) brain

T.4. AR Thead FT Aded FIT 52

a) T8 AT el T b) HIRY Tt 38T
¢) TATELY 3R FRAeIdT hr Feafa DREIGIREEREIGIH

Q4. What does physical fithess mean?



a) only reducing obesity b) lifting heavy weights
c) State of health and well-being d) going to the gym daily

9.5, AFrATaf@d # O g ao & cafeq '31fa Al & 3mar g, ST i BMI
CART IRATT 87

a) 24.9 ¥ 3ifa+ b) 25 & 29.9 d&
c) 30 ¥ 34.9 d) 35 & 3+

Q5. In which of the following categories does a person fall into 'extreme
obesity', as defined by BMI?

a) more than 24.9 b) From 25 to 29.9
c) 30 to 34.9 d) more than 35

.6. I HIAT & G H " HAAD " e ohl T 37 52
a) ATAAFRIAT g U AT gl &

b) T STAT it 3R Mol IR @ T ggfe

c) TR T BT ETE

d) AR &9 & gaol T I B §

Q6. What does the term "mesomorphy" refer to in relation to body
composition?

a) Muscles become stronger and well built
b) The tendency to store fat and have a rounder physique
c) Arms and legs are short

d) Are physically lean and thin
Rera TU1T X FH#7% 7 F 9/ Fill in the blanks- 7 to 9



Q9. Formula to calculate BMI (Body Mass Index) is -------------- :

Ueh A1 33X dTel U HHIH 10-72/ Questions carry one word answer
.10. TUH Well ST3AT Thol I gl AT T 77T A2

Q10. Where were the first Khelo India School Games held?

T.11. 3ok NTATAh Well T STHSTAT 8 FHgT ST g2

Q11. Who is known as father of Modern Olympic Games?

g.12. Qa1 bl 37 WideY hr fohdT Sl T gl ST 872
Q12. What is the act of inhaling the breath called?

31fRAFUA 3 FROT Tl 92T FHAH7H 13-15/ Assertion and reason
guestions

9.13. JTRRYA: YTOTATH 3TSCTT AT T I TaH TROT T |

$RUT: YTOTRITH & Qsal & AT & ol & (107 F 37A1H) |
a) (A) 3R (R) all GEI & (R), (A) T Fgr sarear g |
b) (A) 3R (R) al=it §ET & o] (R), (A) T TEY sATEAT LT & |
c) (A) WEI &, e (R) WEI TG & |
d) (A) e &, o] (R) TETE |

Q13. Assertion (A): Pranayama is the last stage of Ashtanga
Yoga.

Reason (R): Pranayama is the combination of two words (Pran &
ayaam) breath and restraint.

a) Both (A) and (R) are correct (R) is the correct explanation of (A).

b) Both (A) and (R) are correct but (R) is not the correct explanation of

(A).



c) (A) is correct, but (R) is not correct.

d) (A) is wrong, but (R) is correct.

.14, ATRFYT: ARIRE ST g &TAT & Toreeh SarT rIRe fShamsit &
TaTSeT &Gl T T4 UepTel o TehqUT GoT & TohaT oI Feh |

HROT: JATIAT A IR AT W1 9k AfFT A FA gl g |
a) (A) 3R (R) =il GEI & (R), (A) hr Gy sarear g |
b) (A) 3R (R) aXit &l & fohe] (R), (A) T &g carear agl & |

c) (A) TETE, fohed (R) TET G & |
d) (A) T 8, g (R) &Y |

Q14. Assertion (A): Physical fitness is the ability to perform various
forms of physical activity rationally without fatigue.

Reason (R):
a) Both (A) and (R) are correct (R) is the correct explanation of (A).

b) Both (A) and (R) are correct but (R) is not the correct explanation of
(A).
c) (A) is correct, but (R) is not correct.

d) (A) is wrong, but (R) is correct.
9.15. 3fAHY: ITH T ARy afa 7 37 Sy § Fad el &
dT9HATT §¢ SATdT &
hROT: ITHTA & AT QT H el TFATIL3HT & grAlTelaeT &l aA=T &

ge e gl STl 8|

a) (A) 3T (R) a1 TEr g (R), (A) 1 & ArEar g |

b) (A) 3R (R) Xt el & fohe] (R), (A) T &g cAT&ar =gl & |

c) (A) TETE, fhed (R) TET AL & |

d) (A) ITeld &, fehed (R)@&Tg |




Q15. Assertion (A): Due to Warm-up, the muscles come into motion
which increases the body temperature.

Reason (R): Warm-up increases the amount of hemoglobin in red
blood cells in the human body.

a) Both (A) and (R) are correct (R) is the correct explanation of (A).

b) Both (A) and (R) are correct but (R) is not the correct explanation of
(A).

c) (A) is correct, but (R) is not correct.

d) (A) is wrong, but (R) is correct.

Ty FHIF 16 T 21 3T 7y IR / Very short answer questions
¥.16. feeamerar § 39 a1 s § ?

Q16. What do you understand by disability (Divyangta)?

W.17. AETAG & IR H Figied # ford|

Q17. Write briefly about mesomorphy.

¥.18. Ucoe AT o IR H 319 4T JHSTd & 9dTU ?

Q18. What do you understand by voluntary muscles, explain ?

9.19. 3lclsh e shgd g2 361807 & |1y Id1U |

Q19. What is lever? explain with example.

9.20. fepeNRraredr 6 fehegl o FAEAT3T & IR H Ffered ford |

Q20. Explain briefly about any two problems of adolescence.

¥.21. % & a7 HTAIT g7

Q21. What is meant by doping?

gy HHiE 22 F 27 7y JFY/F /| Short answer questions

q.22. Tl 3337 GEIma I foheg! died @ dTdl R T89 H o |

Q22. Write briefly about any three special features of the Khelo India
Programme.



9.23. 3iclTeh €aof o IR H ford |
Q23. Write about the Olympic flag.
.24, 3T AT A shgad §2 ool aF 3791 & IR & T&IT H JdTv |

Q24. What is Ashtanga Yoga? Explain briefly about any two elements of
Ashtanga Yoga.

9.25. HhRIcH® Siiaeriell & gcahl & a # ferd|

Q25. Write about the components of positive lifestyle.

¥.26. e U faehry H 3R TS

Q26. Explain the difference between growth and development

9.27. R AT ST A (FHfeleT S31) & AT BrAG §? &9 H ==l |
Q27. What are the benefits of Cooling down? Discuss briefly.

¥.28. ¥l. 3¢, TH. Te. H 3T FAT AT &2 Heleh el ITReh fRI&Tm ahr
FATAT SeTTed & felT feheT TRGITAT T dTelel et TTfgu?

Q28. What do you understand by CWSN? What principles should be
followed to make Adapted Physical Education effective?

Ty FHIH 28 F 30 ¥ FTRIT / Long answer type questions
¥.29. Sisr & 41 ATAYRT g2 3 AT a1fa arer 13 IR Sist & IR & |

Q29. What is meant by joints? Write about any four joints having
unlimited motion.

9.30. SRR I (Fereled) fohd shgd g2 fohegl TR AR a1fcal & e
H fore?

Q30. What do you mean by body movement? Explain about any four
body movements.



